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(F+R) (CBCS) (2016-17 and Onwards) /“ \‘«»\*
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Corporate Economics }
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Time : 3 Hours Max. Marks : 100

Instructions : a) Answer must be written completely either in Kannadaor in
English.
b) Answer of Part—A should be continuous.
¢) Answer should be precise.

PART-A
(Conceptual)

1. 39N IRFTHTTR 10 IR 2-3 MeONdd), g0, B3cdRomdTIT 2 osrish.

Answer any ten of the following in 2-3 lines each. Each question carries 2 marks.
(1 0)(2:20)

a) TOWAOM LTF JeR.
Give the meaning of company.
b) FomRD FYRTONED adRRTO ?
Who are the trustees of a corporate ?
C) VRIS AOBSQRWT WTF e,
Give the meaning of human resources.
d) SRTEROTERY aﬁrxs-é’orodgt SRATYQA.
Define human resource management.
e) Aol 08) I ;'q’om’s:%@d NEOAN] 55335:1 EPA.
Mention the difference between personnel and human resource.
f) SOWOWRINT 0oTTeR0 ?
What do you mean by introducing ?

g) BLOTOAR MOTIOIT Q0TTER) 9
What is financial risk ?

P.T.O.
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h) SO0 OIS TeFe ?mcx’)odrwdg{ TROX.
Name two environment protection acts.
i) QDM w&m%eow sowzorf%*zdi BIOR.
Name four multinational companies.
)] GA’I‘I‘@& QDROR.
Expand GATT.
k) Setdots® QomBesd ?
What is patent ?
) TR yPTSe0D RS ZoZ e ﬁ 50&3@71%353{ BROR.
Name two Indian Information Technology Companies.

PART -B
(Analytical)

IIIIIIIlIlIIIIIllllllllllllllIM .

89N CIREITRTTR 4 F3Rer 15 005 20 MEINYY, Bug0R. B3cARORFIE oIk

Answer any four of the following in 15 to 20 lines each. Each question carries
5 marks.

2.

B0TR ROWOE) HBHT ek B0 539, 0T DOR.
Explain the scope of corporate management.

0B BOWOH 03REETO TFTNNBOIT, Rogmon QWO
Briefly explain the importance of corporate planning.

BOBR AOL0E) L3030-T,0D Boesdod 835378 WTO00D.
Write a note on corporate budget allocation.

RREE FOBIRE 03062030 BOIRHINTI) FOFFTN HTOR.

Briefly explain the benefits of human resource planning.

ROTBIVT AITBZD BN Wi}, §333£8 QB0
Write a note on social security measures.

WTOR 80033050, 208
Explain the structure of WTO.

(4x5=20)
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PART-C
(Descriptive)

NS oY mscnd @’fg{-{@ﬁ 4 RN QT3S Vg0, T30 eomd @gm 5 903N
Answerany four of the following not exceeding 4 pages each. Each question carries
15 marks. (4x15=60)

8. 30T FO0H BBYEB DRF BT DOTTERD 9 930 3@’37{%& RO
What is corporate management ? Explain its principles.

9. T3 B@F@Z‘S?&)}%@JQ BOTR FOWOR NTIoNG TR TNDIODI), 23237 0.
Discuss the importance of corporate business houses in economic development
of a country.

10. 30T TIOWOH 03ReEICH DTNI) RO
Explain the types of corporate planning.

1. BRIS FoB[RY F BT TWODFNTD) QWO
Explain the functions of human resource manager.

12, 2E0TE,e0 QRTINPOTNIS LRBH R OTORBRUNTTI DROR.
Explain the advantages and disadvantages of MNCs.

13. WTOR eucieansh s558) TORF YR DFOR.
Explain the objectives and functions of WTO.
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ECONOMICS - VI
Rural Development and Co-operation

Time : 3 Hours Max. Marks : 100

Instructions: 1) Answer must be written completely either in Kannada or in
English.
2) Answers of Part ‘A’ should be continuous.
3) Answer should be precise.

PART-A
(Conceptual)

Answerany 10 of the following in 2 -3 sentences each. Each question carries
2 marks. (10x2=20)

1. a) Mver e:azpdo@pob SRF JeB.
Give the meaning of Rural Development.

b) #3) BT Q0D ?
What is Micro Finance ?

c) o2 e BROZN H0BTERD 7
What is rain water harvesting ?
d) PURA O70R.
Expand PURA.

g) 38 [N BPFRH 03RewS 0TI ?
What is Direct Cash Transfer Scheme ?

f) ABFT WRHRPOI LTIEOT 03T ?
Who is the father of Co-operative Movement ?
g) ARw&T B0 dqpéo:b DT BIBRONTI), EP2.

Write two advantages of collective farming.
P.T.O.
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Answerany four of the following. Each question carries 5 marks.
2.

h) MRV IROFOT WPFBed 9
Give the meaning of Rural Sanitation.

) 0D g&‘c\ioféd AHTO #o%‘i%% TROR.
Name two Non-Agricultural Co-operative Societies.

J) RARTIOD RPN O 300,
Give the meaning of SelfHelp Groups.

K) WE38 20336309
What is poverty ?

l) Fz5T3 3303@5.1 PR
Mention the principles of Co-operation.

PART-B
(Analytical)

ADIAR uﬁéd@d&d Eadean’e}&zt QRO

Explain the causes for Rural Poverty.

ADIAL DOT @’@dﬁ%ﬁg{ DROR.

Explain the types of Rural Credit.

AT BT D305 qw,gwo wrﬁ\ w:gé 2080200.

Write a brief note on public distribution system.

20 203N @ojargasad wr}’\ wa;té 23000.

Write a note on 20 points programme.

OIS FOODF AP, DTOR.
Explain the functions of NABARD.

2B50 B3em03d a’d&)@oﬁa @Rbmorfeéaz{ QT

Explain the advantages of Co-operative Farming.

[T

(4x5=20)
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PART-C
(Descriptive)

Answerany four of the following. Each question carries 15 marks. (4x15=60)

8.

10.

11.

12.

13.

APTAVN etp%@;c\b B ZI), DFOR.

Explain the importance of Rural Development.

WEIT AT TODF FIONII) DZOR

Explain the poventy alleviation programs.

T GUBTTS TR QOO FTLNTER 7 TR, BURLO FTiR0E BRINTIY, D0A.

Explain the causes for low agricultural productivity. What are the measures
taken to increase agricultural productivity ?

FAUROT SRONIR) DT0R.

Explain the sources of agricultural finance.

DTSR ABTO0 L3F0WPOR Laear 202 dawre%ﬁ#dg{ LRI

Discuss the growth ahd weaknesses of Co-operative Movement of India.
R Resa0h R0 BEarsh WY T BB FIY, TR

Explain the features and importarice of Self Help Groups.
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ECONOMICS - VI
Mathematics for Economists

Time : 3 Hours Max. Marks : 100

Instructions: a) Answers must be written completely either in English or in
Kannada.
b) Answers of Part — A should be continuous.

c¢) Answers should be precise.

PART-A

1. NS cRFrwte 10 FBRTE) cv3or. B BT 2 o3,  (2x10=20)
Answer any 10 of the following questions. Each question carries 2 marks.
a) wtd) e 00oess C = q° — 802 + 8q &N q = 5 NN, eRPO3 BRI
FOBIEROWD.
The total cost function is C = g — 8¢2 + 8q. Calculate MC when q = 5.

b) D =35-38p 3% S = 2p rish Fbem ededs w3y FPYF WOBTTINGS, BTO0T
RRIBRCVS 136 38 VB BOTILROND.
D =35-3pand S 2p are the demand and supply functions respectively.

Find the equilibrium price and output.
C) BRFARS WP 2x°2 — 22X + 60 = 0e530 2B,
Solve 2x2 — 22x + 60 = 0, using Quadratic formula.

€
d) y = e* soon e—y BORIEGBED.

X

e S

Ify =eX Find c.

e) U\)CS&";J oroo:b&,w 233 wowéc g% -4q° +8q &353,q = 5&5ﬁmﬁ~ea§mo§aﬁu
(MC) 50&5360@0&)@

The total cost function of a firm is C = g% — 4q3 + 8q. Calculate Marginal Cost
(MC) when g =5.
P.T.0.
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f) destnos wmac MR = 100 - 8q R02) R eetad f = 10 TN 2bd) GTDOT
(TR)&) 80mdR0000,

If MR = 100 - 8q, calculate Total Revenue (TR) when the demand for the
" product is q = 10.
) RROT mﬁomdab w% X B2y S aﬁ@@ rﬁcézda FOmILEIO0.

5x + 4y 5
X-2y=6
Find the values of x and y by using Cramer's Rule.
X +4y =5
X—2y=6

h) agdod Fege awdod& YA
Define decreasmg returns to scale

Q oQ
i) Q=8KL—-4L2-12K2 VBT LW GRMD0B BT L wDuJ — -o'omaoeomo

The production function of a firm is Q = 8 KL — 4L2— 12K2, Flnd out the partial

oQ oQ
differentiation R and K

j) @0eencdd b Swodow ODPESDEVAEASCS OTE BR0EBTED e,
Define consumer’s surplus and give an equatlon forit.

k) sOspear agpets SRTFEEDA MC = MR = AR 205> 502,
Prove MC = MR = AR under perfectly competitive market.

) 'y =1(x) smony & 8s3 RPOT WIesantdT N, 1) a3 1S, 2 ABNINI) S0,

Wheny =f(x). State both the necessary and suﬁucuent condmons for minimum
value of y.

PART-B

NS IRt 4 IR KuBoR. B8 TIN5 wosrieh, (5%4=20)
Answerany 4 from the following questlons Each question carries 5 marks.

. du
2. U = f(qqqp) oegdro wdowsmondy, M = p,q, + P20y LT B20e8CersnEd dq
BORGRBOWD.
U = f(q,q,) stands for the utility function and M = P19y + P,q, stands for the

‘ - du
budget equation. Find ~d_q.
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_ E(UV) EU EV f
3. U=f(x) m™nraV =g(x) SNTO. Ex Ex + Ex @owddz{ ARORF .
E(UV) EU EV
If = = R =
U = f(x) and V = g(x). Then prove that Ex Ex + Ex’

4. wed wows q = 20 - 49 ~ p2 &N, p = 4sNTQ, 1er? 28703, Tonw HeRW03
S0 (MR) 6533, 8008 B0000. |
Find the elasticity of demand and MR at p =4, ifthe demand functionis q=20-4q-p?.

5. TR TR0 vEB wors Q= AL*KP 2058 a358) eiomevicd vugy ST,
E | 302) B 0m05R0000.

For the Cobb Douglas Production function Q= AL* KP, obtain the output elasticities
for both labour and capital in E; and Ey.

6. eumEd BE BeRRE SR wowsC = q3 - 842 + 20q AWIR, A0RO SS(AC) 35
WOTTE MC = AC2030 FQR.

The short run cost function of a firmis C = - 8g2 + 20q. Prove MC = AC at the
minimum point of AC.

7. 388 Wows P = 5 - 3D, awdd) P 3¢ monie D 3ead gdstmﬁdoq TR=2) MR
BOTRIEBOD,

Let the demand function for a commodity be P = 5 — 3D, where P is price and D
is the quantity demanded. Find TR and MR.

PART-C

8INS CARRRTECR4 TRt eugon. B8 TIr15 woenkh. (15x4=60)
Answerany 4 questions. Each question carries 15 marks.

8. D =200 - 5p S S = 300 — 20prish g0z 3eddd w03 TPYE VoINS,
[TO0E BeRBREVT S B m%qg@ BORBECD. Tr0dde, BRTE CFTRT FTIT
ARleb1 S xgpdmﬁcf W02 TR TR0 BT R0TE cﬁzéd DOUTR, O B0,

If D =200 - 5p and S = 300 - 20p are the demand and supply functions for a

certain commodity. Calculate the equilibrium price and output. Further prove that
equilibrium is stable according to Marshall, but unstable according to Walras.
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9. 23R T8 INTBIRY 3eRY ows ToRe DB, V) L), 5, WOLTY
Py=16-2x Py =29-y2mnRnC = 8 + 2y +9, QU 135, QU TOM LRI,
TR,

Given the following demand function for two separate markets and the total cost

function of the monopoly firm is P, = 16 — 2x, P, = 29 —y2 and C = 8x + 2y + 9.
Findout the price, output and maximum profit.

2

10. 3653 wows wwonte ot wowsnehD = 30 - Bx a2)'S = 8 + 6x AmRr ARLREVS
IS R NS F0r0BBI0D TR BROFRACD @3 VBT 07 FHOD), T
Q

wei‘
e
N
o

U

é

Given the demand function D = 30 — 8x and supply function S = 8 + 6x. Calculate
the equilibrium price and quantity, and also calculate consumer’s and producer’s
surplus. '

11, 90T Worsy) Q = 2L2 + 313 SN, Zad UBTZION ‘L’ B09R0 203) 26RO
YUSITTSO TR OQC AP ROTEHATNMP| = AP| 20L0T) B
Construct the average and marginal production functions for the labour input ‘L,

given the production function Q = 212 + 3L.3. Further, prove that MP, = AP, at
the maximum point of AP, .

12. aa-:’mzjd% RNRTIMT PRI wIe@F WowsYP =50 —q w02 Wk, dzid(TC) 20T
C =25+ gendi3d. Snoous =08 TRy ﬁoagéodoq , ﬁba%ajd, m%ajz 2830 BTHOD,
283 m?’j 3028) 283, mddﬁg{@cjrb&.

Monopolist faces a demand function P = 50 — q and TC function C = 25 + q.

Determine the optimum level of output, price, TR, TC and profit under sales
maximization.

13. cROTTTRT BRENE0D DEPTBI), DOR.
Explain Euler's adding up controversy.




